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N.B i) Question no.1 is compulsory

ii) Solve any three from the remaining five questions

What are the different requurementﬁtg plé:ih good 4
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1) Q.1 is compulsory. e
2) Attempt any three questions from the remaining five questlons %
31 Assume Suitable data wherever necessary

Astempt any FOUR ) e
@) Explain Launching of Geostationary satellites ' ' -

B) Explain design considerations of Earth statlon e

c) State and explain Kepler’s Laws '

d) Explain different orbital parameters Soa
) Differentiate window and frame orgamzatmn :

= 2) What is EIRP, Discuss 1mportance of [ G/T] Iatlo Calculate Overall [C/N] for a satellite
link, if [C/N] up link —25dB and [C/N] downlmk—ZOdB and mtermodulanon noise =13dB

~ B)Explain TT & C subsystern Explain role of multi—tone frequency in trackmg system. 10
3 2) Describe different stablhzatlon technlque e B ' 10

b) What are dlfferent types of lasers used for satelhte commumcatlon'? Explain acquisition
link model for optu:al commumcatlon e i = 10

£ 3) With the heIp of block dlagram explam transmit recelve type of earth station 10
b) Draw and epraln satelhte network architecture = 10
2) Explain SPADE system and scpc of FDMA 10

“ Which types of antennas used m satelhte commun;catlon Explain any one in detail. 10

nte short note on any TWO L 20

Onboard comxectmty with transparent processing
VSAT and GPS

7. Rehabihty and space Quahﬁcatlon
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(1) Question No 1 is compulsory AT DT B & S
12) Solve any three from remaining questions.

13) Assume suitable data if required.

+d) Define network address and network mask. o S S [5] '

Draw the DHCP packet format. With referenec tO thls WhIChﬁeldS determihe _ "[I(‘)]. c
1) The no. of hops a packet can tarvel? igls R

ii) The command is a request or reply?

i11) Why there is a need of transactlon Id apart from IP address and port address'7

) What is the maximum number of seconds that can be stored in the Number of Seconds field of
a DHCP packet? FESS S i ST :

¥) Which field determine that the response from the server is umcast or broadcast‘7

wi) If DHCP packet is request from chent whnch ﬁelds are used'?
wii) If DHCP packet 1s a repljyr message from server whlch ﬁeIds are used'7

1) Explain how vorce is transmltted over packet swntched network usmg H.323. [10]
Explain the IP datagram header wrth surtable 1llustratlons | [10]

Explain the varrous Dhases of COI]QESthﬂ control in TCP wrth suitable diagram.
How the Wmdow srze 1s set in each phase b = [10]

{a) Name the various comoonents of Emall svstem Llst the function of them. [101
Which protocol deﬁnes the MTA chent and server in internet? [10]

ib) Dlﬂ'emtrate between TELNET and SSH Explam the various components of SSH. [10]

What are varlous schedulmg schemes to 1mprove Qos ? Explain any one in brief. [10]

"ﬁlWhat are the hrmtatlons of Flle Transfer Protocol and how they are overcome in Trivial File
Transfer Protocol'? o o [10]

-

(a) What are the 5peclal addresses used in classful addressing. Explain any 3 with suitable example.

[10]
)Explam the connection estabhshment & termination Process in TCP with suitable diagram.

[10]
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Why TCP is not suitable for interactive multimedia traffic, whrle.Ul‘)P'rs‘ " . - ,{5}7" Ty &
15) How iterative resolution differs from recursive resolutlon m DNS? B el
1<) Differentiate between Subnetting and Supernetting. ;:_?V' ;_' R S S
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Time: 3 Hours
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- (1) Question No. 1 is compulsory
12) Attempt any Three questions from the remaining Fma questlons
(3) Figures to the right indicate full marks

I

2) What are the properties of the autocorrelation fung;;m
y What is phoneme? Explain in detail about semivowe
v are formants useful in speech processing? -

' chnbe the equations involved in the design o anzill»go filter oforderl
‘What are the uses of pitch period estlmatlom 5

_ lhcribe the speech production mechanism @nd ider i differ:

ion? g I :

) Explain the different losses mvolved /m.mcxdelmg of the .00a1 tract“Explamho‘w\,
them affects the resonance freqllency of» vxbrahomof-‘tlw VOchl co:rds A

“xplain the different time dbm" parameter er_wed from the speech sxgna’l Bneﬂy
eseribe with equations how they can be computed. [10]
) Explain na.rrowband spéctrogram of épeechBSt@iai‘\' ith smtgl\)le Qxamples [10]

1) What is cqmplechept!ﬁm), Df'\ '
selated equations?.
(&) What iss»ﬂzééi%%d’

[10]

[10]

_ s involved in the design of a speaker recognition system. [7]
HMM‘ usé or speec 'G‘Z'glllfilon‘7 .
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